Hydrogen in Tritium Cell
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Deuterium, run 3993
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Hydrogen, run 3989
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1.6 % => 1.13 mg hydrogen in Tritium Cell #2

Raw Yield Normed by Charge

12 run 3991, Tritium
run 3989, Hydrogen x0.016
Tritium - 0.016 x Hydrogen
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If the hydrogen contamination is in the form of
H20, we should also see Oxygen elastic peak?

Density and Charge Normed Yield

Tritium @ 4.9 uA, yield=3.347e+00
Helium-3 @ 4.9 uA, yield=6.061e+00

0.09 ~———— Carbon @5.1 uA, yield=3.385e+00
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If the hydrogen contamination is in the form of
H20, we should also see Oxygen elastic peak?

Density and Charge Normed Yield

— Tritium @ 4.9 uA, yield=3.347e+00
— Helium-3 @ 4.9 uA, yield=6.061e+00
o ~————  Carbon @5.1 uA, yield=3.385e+00
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